Tema: Jlorapugmsbl U UX cBoiicTBa

3ajanmue:

1. [Ipocaymiate 1 U3y4uTh MaTepHUAIL:
https:/www.youtube.com/watch?v=gnullFik18w

2. BBIMOAHATE TECT W OTHpaBUTH Ha 37. mourty anzhelika-sedova@mail.ru

13.00.

Bapuanr 1: ArapkoB — boioToBa;
Bapuant 2: bypkoB — Eroperuesa;
Bapuanr 3: 3aiinieB — Konnakos;
Bapuant 4: KopenbkoB — Ky3HeloBa;
Bapuanr 5: Makaposa — Tyaes;
Bapuanr 6: Ymimonauna — [llenenes.

TECT
Ceoiicmea nozapughmos

B-1
1. Beruncnuts log, 81
a)27; 6)9; 84, o) -4

2. Beruncnuts log, ., 13
1 1 .
a)ﬁ, 6)5, 6)1, 2)13
3. Beruucnuts log, log, 9
a)2; 6)0,5 B) v2; )4

Ig125

Ig5
a)75; 6) 35, 6)1925; 2) 3

4. BEIYUCIIUTH

5. Beruuciaurse
logs12—log, 3+log, 9

a) 6, 6)2; 8)-2; 2)-6

6. Berunciuts 2log, 6+ log, %— log, 35

a)35; 6) 4, 8) 2, 2)-35

a0


https://www.youtube.com/watch?v=qnu1lFik18w
mailto:anzhelika-sedova@mail.ru

7. BeIYUCIUTD
log, 2—1log, 2-log, 6+log, 6

a)log,2; 6)L 6)-1 2)log,3;

8. Berunciaurh
log,17-log,, 7-log,, 9

a)0,5; 6)2; 6)L 2)V2

9. Onpenenuts log, 72, €ciii U3BECTHO, YTO
log;2=4a, log;3=Db

a) 3a+ 2b; 6)2a+ 3b;
g)a-b; 2a+b

10. Beiuuciurh
Ig7(log,15+1log, 4—log, 6)

a)2; 6)0,5 6l 2)-1

B-2

1. Beruucnute log,125
a)25; 6)-3; 8) 4; 2) 3
2. Beruncnuts log,, 5

a)%, 0)1; e)%; 2)5

3. Beruucouts log, log, 64
a)3; 6) 0, ¢l 24
Ig 256

g4
a)d,; 6) 64;6) 1964, 2) 16, .

4. BEIYUCIIUTH

5. Beruuciaurse

9
log,6+1l0g,4+log, —
0, 0, 0s Y

a)10; 6)8;, 62, 2)4

6. Beruuciaurse



2log, 27 —log, 81—2log, 18

a) 6, 0)2; 8)-6; 2) -2

7. Bounciurhb 2I0928+Iong—655—log2 25

a)25; 6) 2; 8)4; 2)-25

8. log,5-log, 9-log, 2
Q)2 6)1; 6 05 22

9. Onpenenutd log. 30, €ciM U3BECTHO, YTO
log;2=4a, log;3=Db

a) 3 a+ 2b; 0)1+a+b;
6) a+Db; 2)a-b

10. Beruuciiurh
Ig3(log, 25—-1log, 2+ log, 8)

a)-2; 0)-1; B)1 )2

B-3

1. Berunciutb Iog4i

16
a)-2;, 6)2; 8 4; 2) -4
2. Beraucnuts logy, 9

a)%, o1 6)9: 2)%

3. Boruucauts log, log, 256
a)3; 6) 0, 6l 22

4. BeIYUCIIUTH Igﬁ

Ig2
a)l6;, 6) 5;6) 1916, 2)30;

5. Berunciuts log, 5+ log, 25+ log, %

25
a)10; 6)4; 88 2) 0,5



6. Berunciaurp
log,10-log, 5+log, 8

a)4;, 6)3;, 8)5; 2)10;

7. Bprauciure
2log, 32—log, 256 —2log, 14

a)7; 6)2; 8)-2; 2)-1

8. Brruncnurs log, 7-log, 81-log, 2
a)l, 6)05 6 2, 22

9. Onpenenutsd log, 24, eciii U3BECTHO, YTO
log;2=4a, log;3=Db

a)2a+3b; 6)2(a+h);
B)3a+Db; rya+b

10. Beruuciiurh
lg2(log, 75—10g,15+log, 20)

a)2; 6)1;, 8)-2 2)-1

B-4

1. Berunciutb I095i

25
a)2; 6)-2; 8 5, 2 -5
2. Beraucnuts log,,, 11

1 1
a)—, 6)— ¢)1L 2
)2 )11 6)11, 2)

3. Beruucnuts log, log., 2
a)l;, 6) 0, ¢ -1; 25

4. BEIYUCIIUTH lg2r
Ig3

a)9; 6)199;6) 3, 2) 24;

5. Beruuciaurse
log, 10+ log, 50—log, 4



a)3;, 0)4; 6) 10, 2) 0,5

6. Berunciaurh
log, 8—log, 3+log, 12

a)3; 6)5; 6 4; 2)17
15

7. Bpraucnuth 3Iogz4+log,_E—I09215

a) 15; 6) 4, 6)-15; 2) 2

8. Berumncnuts log, 7-log,,, 25-log, 11
a)V2;6)2; 6 05 2ol

9. Onpenenutsd log, 60,61 U3BECTHO, YTO
log;2=a, log;3=Db

a) 2 a+b; 0)1+a+Db;
6)3a+b; 2)l+2a+b

10. Beruuciiurh
lg4(log, 35+log, 2—log, 7)

a)-1; 06)1;, 82 2)-2

B -5

1. Beruncnuts log, 81
a)d; 6)9; 82, 2 -2

2. Beraucnuts log,,, 12

1 1
a)—, 6)—; 1; 12
)12 )2 6)L, 2)

3. Beruucnuts log, log, 3
a)2; 6)-1; 6 2, 2)05

4. BEIYUCIIUTH Igﬁ
Ig2

a)5; 6)32;6)1932; 2) 6

5. Beruuciaurse

log,8—1log, 2+log, %



a)6;, 0)2; 6)-2; 2)-6

24
6. Berauciauts 2log, 6+ log, 5 log, 24
a)24; 6) 4, 6) 2; 2)—24

7. Berauciaurs
log, 2—log, 2-log, 6+log, 18

a)L; 6)logs2; 6)-1 2)log,6;

8. Brrauciaurh
log,15-log,, 7-log,, 81

a)2; 6)%; 6)L; 2)\2

9. Onpenenuts log, 36, €ciiv U3BECTHO, YTO
log;2=4a, log;3=Db
a) 2a+ 2b; 0) 3a+ 2b;
B)a-b; r)a+b

10. Beruuciurh
199(log, 15+ log, 4 —log, 6)

B-6

1. Berurcnuth log, 625
a) 125, 6) 3, 6) -3; 2) 4
2. Beruncnuts log, 5

a)%, o)1 e)%; 2)5

3. Beruucnuts log, log, 64
a)l; 6) 3; 805 24

4. BEIYUCIIUTH Ig_81

Ig3
a)4; 6)78;6) 27, 2) 1927,

5. Beruuciaurse



log,4—1og,16+ Iogsg

a)9;, 06)0,5;5 8)-2; 2 2,
6. Boeruncnuts 2log, 27 -log, 81-2log, 21
a)7;, 6)2; 8)-7; 2)-2
15
7. Berunciutsb 2log, 8+ log, 7 log,15

a)15; 6) 4, 6)-15; 2)2

8. log,7-log, 81-log, 2
a)\2; 6)2; 6 05 21

9. Onpenenutsb log. 90,eciii U3BECTHO, YTO
log;2=4a, log;3=Db

a)3at+2b; 6)1+a+2b;
6) 1+ a+b; 2)a—b

10. Beryuciiurh
I93(log, 25+log, 2—log, 5)

a)-2;, 0)-1; 82 2)1

BHeayauTopHasi _caMocTosiTeibHasi _padora:  I[lokazaTenbHble YypaBHEHHS.

Pemmmmte 3amaun.
BrimmoaraenHbIE BHCAYANTOPHLIC CaMOCTOATCIILHBIC pa60TBI BBICBIJIAKOTCA HaA
nouty anzhelika-sedova@mail.ru  mo 29.04. no 15.00.
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